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General Instructions: e ligds”
1) Read carefully and attempt all questions.
-q/d’:,myrﬁmu:’ga_/i_v

2) Encircle the correct option of each MCQ as shown in the example given below.
-« WtJedt & L:..Pu,',(@u’l;/,h.,lﬁé‘ LZJirdE 1w 27

Example: Dengue fever is caused by:

(a) bacteria

@vi rus

L & (b) fungi
S (d) algae

:q_gﬁJJ&uﬁ'—J:Jt"
d¢
G

3) Use black/blue ink for writing. Use of lead pencil is not allowed.

e S LS Gt SISk /S LA
4) If more than one options are encircled in a question, no mark will be given.

Kbl A3 Wi S L ciimlie LIt IS

Total Marks: 48

Part-A (Multiple Choice Questions)

Total Time: 1 Hour 15 Minutes

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each
question carries 1.5 marks.

(&) Cerebrum

(c) Thalamus

~WASLL Dy et sy $E 0 2 )23(UF U o Ui
Q. No.1. Which of the following is a part of hindbrain?

A (b) Pons

U

.

Q. No.2. The tube which joins kidney and urinary bladder is called:

(@) medulla

(c) ureter

Us

P

yu (b) cortex
") (d) urethra

e luf oK e S5 o n
74

(d) Hypothalamus k% #,

‘Lall‘«( [y dué.u.f/;}:d y vy /)
S

/ }Z;Z
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Q. No.3. Technique used to remove medium sized stones from kidney is:
:‘Lur‘aalggfdlfpluféj.ﬁ'd/?;d/fl/i,yu;,g)/ﬁug?

(a) angiography 1.0+ (b) lithotripsy ~ (#2#"
(c) dialysis s (d) cloning EE

Q. No.4. Which of the following events occurs during interphase of cell division?
?‘gb'nlw’uu:j::’/"-'lJUZ);‘JJIVUILJ:JJ,?ACI

(a) Division of cytoplasm s (b) Division of nucleus Ry
(c) Duplication of chromosomes JJQ%”J st (d) Formation of cell wall G
Q. No.5. The given figure is of: te U 2GS
(@) RNA PR (b) DNA IS
(c) Gene oz (d) Chromosome ¢y

Q. No.6. The use of microorganisms to benefit human beings is called: \
e b IS Us e §i00 P8 L L igren k6 LIS

(a) genetic engineering Jffuﬁ (b) tissue culture ffﬂ
(c) biotechnology SAL 4L (d) vaccination S,
Q. No.7. We can recognize the parents of a child by: :wé/&té&-gﬂu&{;ﬁ
(d) gene therapy = P (b) genetic testing e BE
(c) cloning - (d) selective breeding e

Q. No.8. In how many days a pupa develops into an adult Aedes mosquito?

s

¢ O A i figtun

@2to3 32 (b)4t05 54
(c)6to7 7«6 (d)8to9 98
Q. No0.9. Carbon monoxide causes:
N N A I 4
(a) skin cancer ¥+ e (b) tetanus et
(c) cholera (7224 (d) headache Ko

Q. No0.10. In greenhouse, which energy is absorbed to provide heat?
?‘LJ/ A1 p il 7 S nie SIS St

(@) Hydro Iy (b) Solar v
(c) Wind s (d) Nuclear HEy
Q. No.11. Metals are corroded due to:
:‘gl:ﬁ..{)fu;ln
() acid rain .;J/;Qu)f (b) greenhouse effect :._aé’ﬁusgqf
(c) ozone depletion Lﬂsu,;,u (d) global warming e Bt

Q. No.12. XKCIQO3 — xKCI + yO,
The values of x and y to balance the above given chemical equation are:

:d’ ncu:’: Jyuixééé,/ u}l}"f .:A:l/é.lr{éf u';/_‘:f
(a) x=1,y=2 (b) x=2,y=3 (c) x=3,y=4 (d) x=4, y=5
Q. N0.13. According to which law, mass of reactants is equal to the mass of products?
9‘44454‘!@&&,9&’%@&&»&@)@&
(@) Law of conservation of energy Suic s (b) Law of conservation of matter »lZ_wys¢
(c) Law of gravitation uiwf J‘f (d) Pascal’s law Sy KJ@
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Q. No.14. Identify the endothermic reaction from the following reactions.

-‘J‘:/&C’:Jut{ldjbff?ﬁklc.ufﬁgldlidr)
(@ C+0, —>» CO;+ heat (b) Fe +S —» FeS + heat
(C) H, +1, + heat —»2H| (d) CH; +O,—» CO, + H,0 + heat
Q. N0.15. Which of the following ions is released by acids in their aqueous solutions?

?wL/@;GJTl/ufc;.uiiswpuﬁdﬁ@fa;.u}g:

(@ H* (b) Na* (c) O% (d) OH-

Q. No0.16. The salt used in purification of water is: :+¢Jv01,LxJW|€L£L/JuIJg
(@) sodium carbonate =463y (b) potassium nitrate .z;j/t(f by
(c) potash alum (LAJB; (d) copper sulphate b f

Q. No.17. The brake system shown in the picture works on the principle of:
S'q,t'/rl{/,dr‘lﬁuf (»_/ LA P

(d) pneumatics JQ“ ¥
(b) electrostatics Y,
(c) electromagnetism Y
(d) hydraulics oy
Q. N0.18. The unit of pressure is: - 2y
(@ N (o) m (c) Nm*t (d) Nm 2

Q. No0.19. The weight of the air column per unit area on the Earth is called:
e bl b Ling oy Lot

(@) critical pressure /izvdé‘t/ (b) ozone pressure sl

(c) absolute pressure Ay (d) atmospheric pressure 2, &
Q.N0.20. 3x10°m=

(@ 3cm (b) 3 um (c) 3mm (d) 3km

Q. No0.21. The diameter of the ball shown in the figure is:
e Bl (Ut
(@ 6cm
(b) 8cm
(c) 12cm
(d) 14 cm

HENE ||| I‘I‘I I‘I‘I‘I‘I‘I I‘I‘I |‘|‘|||
4 5 6 7 8 9 1011 121314151617 1819 20

B
123

cm
Q. No0.22. The source of energy for food chain given below is: :‘g;j./}lﬂ}}l%éuﬁﬁ}{d:é
(a) plant by (L Sun ) &
(b)frog S N5 Do e WH
(c) sun Lur ! :
Plant Insect Frog Snake Eagle
(d) eagle _tr s ye e e e
Q. N0.23. On heating, the level of water in the glass tube: :J,J(Jgufyfulf/,é_/rf
Glass tube
. —
(a) increases oy "
(b) decreases +tnf
(c) firstincreases then decreases < tsf £ toyds — Glass Flask
._J;}-:;_,"_I?

(d) first decreases then increases ‘gw/ibam[ &
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Q. No.24. Which of the following does NOT happen when iron is heated?
Pt'nu:"'.l,”c,u.’td,)g;ﬁ?uggr)’f‘a;’.,z

(a) Its temperature increases bl 7 506
(b) Its particles gain energy & S LG A= LU
(c) It contracts et F
(d) It expands PN <

Q. No.25. Which of the following is a double convex lens?

?‘LVUI)iJu’gi‘rJﬁc.u:Jj.pﬂ
(8 W
(b) X
(c) Y
(d Z

Q. N0.26. The nature of image formed by concave lens is: “ e (et ISB 1L i e #E
(a) real & (b) inverted &
(c) virtual Sz (d) larger S
Q. No.27. A long-sighted person uses ----------- to see near objects clearly.
DY/ T — L L bl P S Ak
(a) convex mirror Ut (b) convex lens A~
(c) concave mirror o (d) concave lens A
Q. No.28. We need bulb, wire and --------- for the experiment to generate electricity.
e lsen st Lo FLL S
(a) coil Sl (b) magnet i
(c) iron nail J:( e (d) battery SF

Q. N0.29. The given diagram shows the working of a/an: l‘f—j

PRI B utrlfyjéfd;

(a) dynamo b }”{;E;ﬂ

(b) motor Iy

(c) electromagnet iy Copper col
(d) spectroscope &35 Fif§et

Q. N0.30. The power generated by using the Sun as a source of energy is:
:‘Lugdl;é,nlﬁé)/ J I.*:'“l/'ub Lé}) LJJIJ/ Cuy

(@) thermal 72 (b) solar Sy
(c) wind s (d) nuclear £y
Q. No.31. In the given diagram of refracting telescope, objective lens is labelled as:
= ‘gﬂbfg}gl(/.g;—?/;l‘ﬂrl/@b‘érd:d/?)ﬁ&‘ﬂ//
(@ W - ’
(b) X
©Y
(d) z -

Q. N0.32. The gases used in the tanks of astronauts are oxygen and:

(@) hydrogen o (b) nitrogen O3V
(c) chlorine o (d) helium
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